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BECE-146 : INDIAN ECONOMY—II 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer the questions as per instructions 

given in each Section. 

Section—A 

Note : Answer any two questions in about  

500 words each. 2 × 20 = 40 

1. Critically analyse the fiscal policy followed in 

India since independence. What are the 

changes introduced in it during the post-reform 

years ? 

2. Explain the provisions made for the social 

security of unorganised sector workers in India. 
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3. What are the two determinants of ‘agrarian 

relations’ ? What do they connote ? Explain. 

4. Describe the recent measures taken by the 

government to promote the services sector in 

India. What has been the effect of 

demonetisation on the service sector in India ? 

Section—B 

Note : Answer any three questions in about  

250 words each. 3 × 10 = 30 

5. State the constituents of trade and transport 

sector. 

6. What features of the ‘handicraft sector’ and the 

‘modern industries sector’ make it important to 

promote both simultaneously in India ? 

7. Discuss the major features of New Industrial 

Policy of 1991. 

8. What are the advantages of organic farming ? 

9. Outline the scope of the Workmen’s 

Compensation Act, 1923. 
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Section—C 

Note : Attempt all the questions from this Section. 

10. Distinguish between any three of the following :  

3 × 5 = 15 

(a) Repo rate and reverse repo rate  

(b) Cash Reserve Ratio (CRR) and Statutory 

Liquidity Ratio (SLR) 

(c) Gross fiscal deficit and Net fiscal deficit 

(d) Technical efficiency and technical change  

(e) Goods market and factor market 

11. Write short notes on any three of the  

following : 

3 × 5 = 15 

(a) Currency appreciation and currency 

depreciation 

(b) Export led growth 

(c) Child Labour (Abolition and Regulation) 

Act, 1985 

(d) Contract farming 

(e) Constituents of financial sector 
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